


�$��$���� 

�%&'��&��,���� �%�/&���/ �� ���� %$������ �$�$�%%�����,���� ��$�������/  �$� 
�$���� �� ��''���� �� �$��$����� �������$��&�  � �$��$����� %��&����&�&� 

 «&�%������� ��$���&�� ����/%» 

 

 

�D>7D4<<4 E>EF46?5=4 =4 >E=>65 $��% %�� ?> =4?D46?5=<O< 15.02.14 

�E=4M5=<5 ED54EF64<< 46F><4F<74F<< F5E=>?>7<G5E><E ?D>F5EE>6 < 
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I. �5D5G5=L M?5<5=F>6 E>45D64=<O,  
?D>65DO5<OE =4 6EFG?<F5?L=>< <E?OF4=<< 

 

$4745? 1. «�=D>D<4F<>==O5 F5E=>?>7<<» 

1. &5E=>?>7<< >5D45>F>< < ?5D544G< <=D>D<4F<<. 
2. �DE<F5>FGD4 ��. �D>7D4<<=>5 >55E?5G5=<5 ��. 
3. �?4EE<D<>4F<O 6OG<E?<F5?L=OE E<EF5<. 
4. �><?>=5=FO < F<>? D45>FO >><?LNF5D4. 
5. �<4O 74?><<=4NM<E GEFD>=EF6. 
6. &5>EF>6O= ?D>F5EE>D MicrosoftWord. 
7. -?5>FD>==4O F45?<F4 Microsoft Excel. 
8. �4EF5D ?D575=F4F<= Microsoft PowerPoint. 
9. %<EF5<4 G?D46?5=<O 5474<< 44==OE. %'�� MicrosoftAccess. 

 

$4745? 2. «�=D>D<4F<>==>->><<G=<>4F<>==O5 F5E=>?>7<<»  
1. �5D45>F>4 <=D>D<4F<< < 4?7>D<F<O. �6F><4F<G5E>4O >5D45>F>4 

<=D>D<4F<<. 
2. �=D>D<4F<>==O5 ?D>F5EEO 6 >><?LNF5D5. 
3. /7O> EFDG>FGD=>7> ?D>7D4<<<D>64=<O (�4E>4?L). 
4. �>=OF<5 <=D>D<4F<>==>= E<EF5<O. 
5. �D>5>F<D>64=<5 <=>7>F45?<G=OE 547 44==OE. 
6. �D46>6>5 D57G?<D>64=<5 6 <=D>D<4F<>==>= ED5D5. �D>5?5<4 

<=D>D<4F<>==>= 557>?4E=>EF<. 
 

II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

 

�>EFG?4NM<= 4>?65=: 
7=4FL: 
ý 547>6O5 E<EF5<=O5 ?D>7D4<<=O5 ?D>4G>FO < ?4>5FO ?D<>?44=OE 

?D>7D4<<; 
ý >E=>6=O5 ?>?>65=<O < ?D<=F<?O ?>EFD>5=<O E<EF5<O >5D45>F>< < 

?5D544G< <=D>D<4F<<; 
ý GEFD>=EF6> >><?LNF5D=OE E5F5= < E5F56OE F5E=>?>7<= >5D45>F>< < 

?5D544G< <=D>D<4F<<; 
ý <5F>4O < ?D<5<O >55E?5G5=<O <=D>D<4F<>==>= 557>?4E=>EF<; 
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ý <5F>4O < ED54EF64 E5>D4, >5D45>F><, ED4=5=<O, ?5D544G< < =4>>??5=<O 
<=D>D<4F<<; 

ý >5M<= E>EF46 < EFDG>FGDG ?5DE>=4?L=OE M?5>FD>==>-6OG<E?<F5?L=OE 
<4L<= (-��) < 6OG<E?<F5?L=OE E<EF5<; 

ý >E=>6=O5 ?D<=F<?O, <5F>4O < E6>=EF64 <=D>D<4F<>==OE < 
F5?5>><<G=<>4F<>==OE F5E=>?>7<=, <E MDD5>F<6=>EFL. 

ý E?>E>5O ED4=5=<O < ?D>EF5=L5= >5D45>F>5 44==OE; ?>=OF<O > 5474E 
44==OE < ED54EF64E 4>EFG?4 > =<<, G<5=<= D45>F4FL E =<<<; 

ý FD55>64=<O F5E=<>< 557>?4E=>EF<, 7<7<5=O < D5EGDE>E55D565=<O ?D< 
D45>F5 E> ED54EF64<< <=D>D<4F<74F<<; ?>=<<4=<O >E=>6 ?D46>6OE 4E?5>F>6 
<E?>?L7>64=<O >><?LNF5D=OE ?D>7D4<< < D45>FO 6 �=F5D=5F5. 
 

G<5FL: 
ý 6O?>?=OFL D4EG5FO E <E?>?L7>64=<5< ?D<>?44=OE >><?LNF5D=OE 

?D>7D4<<; 
ý <E?>?L7>64FL E5FL �=F5D=5F < 55 6>7<>6=>EF< 4?O >D74=<74F<< 

>?5D4F<6=>7> >5<5=4 <=D>D<4F<5=; 
ý <E?>?L7>64FL F5E=>?>7<< E5>D4, D47<5M5=<O, ED4=5=<O, =4>>??5=<O, 

?D5>5D47>64=<O < ?5D544G< 44==OE 6 ?D>D5EE<>=4?L=> >D<5=F<D>64==OE 
<=D>D<4F<>==OE E<EF5<4E; 

ý >5D454FO64FL < 4=4?<7<D>64FL <=D>D<4F<N E ?D<<5=5=<5< 
?D>7D4<<=OE ED54EF6 < 6OG<E?<F5?L=>= F5E=<><; 

ý ?>?GG4FL <=D>D<4F<N 6 ?>>4?L=OE < 7?>54?L=OE >><?LNF5D=OE E5FOE; 
ý ?D<<5=OFL 7D4D<G5E><5 D544>F>DO 4?O E>744=<O < D544>F<D>64=<O 

<7>5D465=<=; 
ý ?D<<5=OFL >><?LNF5D=O5 ?D>7D4<<O 4?O ?><E>4 <=D>D<4F<<, 

E>EF46?5=<O < >D>D<?5=<O 4>>G<5=F>6 < ?D575=F4F<=. 
ý 6?445FL >><?LNF5D=O<< ED54EF64<< ?D54EF46?5=<O < 4=4?<74 44==OE; 
ý ?>=<<4FL ?D>7D4<<O, =4?<E4==O5 =4 6O5D4==>< 4?O <7GG5=<O 

G=<65DE4?L=>< 4?7>D<F<<G5E>>< O7O>5 6OE>>>7> GD>6=O; 
ý 6?445FL 7=4=<5< >E=>6=OE >>=EFDG>F<= ?D>7D4<<<D>64=<O;  
ý 4=4?<7<D>64FL 4?7>D<F<O E <E?>?L7>64=<5< F45?<F; 
ý 6?445FL >><?LNF5D=O<< ED54EF64<< ?D54EF46?5=<O < 4=4?<74 44==OE, 

ED>D<<D>64==>EFL ?D54EF46?5=<= > D>?< <=D>D<4F<< < E6O74==OE E =5= 
?D>F5EE>6 6 >>DG64NM5< <<D5. 
  

III. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 

 

�EFG?<F5?L=>5 <E?OF4=<5 ?D>E>4<F 6 6<45 F5EF<D>64=<O. $57G?LF4FO 
>F5=<64NFEO ?> 100-54??L=>= L>4?5. 
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�464O= 5<?5F E>45D6<F 14 7444=<=. �>?D>EO 45?OFEO ?> >4F57>D<O< 
E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 >464O=), 3 
6>?D>E4 >4F57>D<< � (>F5=<64NFEO ?> 10 54??>6 >464O=) < 1 7444G4 >4F57>D<< 
% (D4EG5F=4O 7444G4 3 >F5=<645FEO 6 20 54??>6). %G<<4D=4O >F5=>4 =5 
?D56OL45F 100 54??>6.  

�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 60 <<=GF. 
 

IV. �D<<5DO F5EF>6OE 7444=<= 

 

�444=<O >4F57>D<< � 

 

�=D>D<4F<>4 <7GG45F &  
÷ E?>E>5O ?D54EF46?5=<O, =4>>??5=<O, >5D45>F>< <=D>D<4F<< E 

?><>MLN F5E=<G5E><E ED54EF6; 
÷ >>=EFDG>F<N E?GF=<>>6OE 4=F5==; 
÷ >><?LNF5D=O5 ?D>7D4<<O; 
÷ >5M5>5D47>64F5?L=O5 4<EF<??<=O. 
 

�4=F5 >?D545?5=<5 «�><?LNF5D=4O E5FL 3 MF>&.» 

÷ E<EF5<4 >><?LNF5D>6, E6O74==4O >4=4?4<< ?5D544G< <=D>D<4F<<; 
÷ >><??5>E 674<<>E6O74==OE ?D>7D4<< ; 

÷ E<EF5<4 7<?5DF5>EF>6OE 4>>G<5=F>6. 
 

�444=<O >4F57>D<< � 

 

�4<=<FO <7<5D5=<O <=D>D<4F<<: 
÷ 5<F; 
÷ 54=F; 
÷ �<?>54=F; 
÷ �57454=F; 
÷ �57475DF; 
÷ �4=><5FD. 
 

�E=>6=O5 <=D>D<4F<>==O5 ?D>F5EEO: 
÷ ED4=5=<5; 

÷ ?5D544G4; 

÷ >5D45>F>4; 

÷ >?<E4=<5; 

÷ E<EF5<4F<74F<O. 
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�444=<O >4F57>D<< % 

 

%>>F65FEF6<5 <564G 54<=<F4<< <7<5D5=<O <=D>D<4F<< < <E 7=4G5=<O<<. 
1 54=F 8 5<F 

1 ><?>54=F 1024 54=F 

1 <57454=F 1024  ><?>54=F 

1 7<7454=F 1024 <57454=F 

 

V. $5>><5=4G5<4O ?<F5D4FGD4 

 

1. �>E<=5=>> �.%. �=D>D<4F<>==O5 F5E=>?>7<< 6 ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< [-?5>FD>==O= D5EGDE]: GG55=>5 ?>E>5<5 4?O %��/ �>E<=5=>> 
�.%., $D<75= �.�.4 -?5>FD>=. F5>EF>6O5 44==O5.4 %4D4F>6: �D>D>5D47>64=<5, 
�= �< -D �54<4, 2018.4 308 c.4 $56<< 4>EFG?4: 
http://www.iprbookshop.ru/76992.html.4 -�% «IPRbooks». 

2. �?>G>> �.�. �=D>D<4F<>==O5 F5E=>?>7<< 6 ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< [-?5>FD>==O= D5EGDE]: GG55=>5 ?>E>5<5 4?O %��/ �?>G>> �.�.4 

-?5>FD>=. F5>EF>6O5 44==O5.4 %4D4F>6: �D>D>5D47>64=<5, 2017.4 237 c.4 

$56<< 4>EFG?4: http://www.iprbookshop.ru/64944.html.4 -�% «IPRbooks». 
3. �=>75<F564 %.�. �=D>D<4F<>4 < ?D>7D4<<<D>64=<5 [-?5>FD>==O= 

D5EGDE]: ?45>D4F>D=O= ?D4>F<>G</ �=>75<F564 %.�.4 -?5>FD>=. F5>EF>6O5 
44==O5.4 %4D4F>6: �G7>6E>>5 >5D47>64=<5, 2018.4 68 c.4 $56<< 4>EFG?4: 
http://www.iprbookshop.ru/75691.html.4 -�% «IPRbooks». 

4. �46O4>6 �.%. �=D>D<4F<>4 [-?5>FD>==O= D5EGDE]: GG55=>5 ?>E>5<5/ 
�46O4>6 �.%.4 -?5>FD>=. F5>EF>6O5 44==O5.4 %�5.: �D>E?5>F �4G><, 2017.4 

480 c.4 $56<< 4>EFG?4: http://www.iprbookshop.ru/80092.html.4 -�% 
«IPRbooks». 
 


